gDJ0Q “I0IBUIPIO0)) UOHBUIWEXT

uiepde)) jewey 1 ¥ Wysop yedRq “1q
Q% \_.M.«c @
2
=

—

(swepmis 1IV) NZZIOHA

(IA 2 SD)
[—Yo3L ‘W

(6S) swapnis [V

N90IDJ

(aAn991g 2I3nsuy)
[IT - Y22l 'd

(SS) swapmig |V
(zzenH:2po) 192[qng)
N90IDH

(0L) syuspmis [V
(rccOA:9p0D 19[qng)

NTZ003

(9€) swapmis [V
(z££DA:3P0D 193[qng)

NE0TOH

(£-2A1309] 210D))
III —Yo=l 'd

(1%) syuepnis v
(97£Dd:2p0) 193[qng)

(0L) swepnis [V
(FT€DA:P0OD 3192[qng)

(8¥) swuopmis [V
(Zz£Dd:2p0D 9[qng)

(Z-2A1309[4 210D)

N9OIDE NZZ0Dd NE0ZOE =41 °d
Jourppl + (0€) (s¢) (09) (s©) (se)
L21°9900902N or10d12ZN 01103120 $L00d12N 07004120 s
‘891 291 “191 091 *SS1 ‘ZT1 401 *€O01 0 0 0} 0 e
“ZLO°E90°SH0'6T0°C00°LOIDA1TN 0 $¥1DATZN [110d1zN 6L00d1Z0 15004120 20004120
NZZZOd NI0ZOd NZ0ZOA NE0TO NE0ZOE
g 65 %%_ 20 1 MM_S qwom%aa ﬁom.%_ms
LTI'99003020 “$91 ‘T91 191 °091 S51 T2 40! o % e & (s109[gng 2100)
—a gy . SR
2o omozcwwawomm SR LS T 91104120 8003120 5003120 20004120 HI—4el'd
NZZ00d NSOIDE N90 1D N90IDE
(09) (S¢) (59 (s¢) (o%)
9910dzZN 9c103ZeN 10103220 9,00d2Z0N 07004220 e
2 % o 2 7 I1-YodL ‘g
LE1DATIN Z010d¢Z0 LL0D3ZZN 19004220 10004220
N9OIDE N9OTDE NI1Z0D3 NZZ00d NZZ00d
60
g i (s€) (o¥) (0€) (s¢) (o)
P 1°620°SH 15003220
oazozeen cL15352n oridacen 001932 sLo<en or033<en (swalans 2100)
; EUMmS 1710920 10103£2N 9L003£ZN 1$00d€ZN 1000d€ZN [—4eld
= N90 1D N90IDE NIZ00d NZZ02d NZZ003

(3707 Y2IBIAl -ATenIqg ) WeXF J12)SUAS-PIA

e

:ue[J sunesy




